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1. oo W% Tede AR e 1x8=8

Choose the correct answer of the following :

(@) TS Wl (PFICOT (PR 2iqiaq e 7y

Which of the following is a measure of
central tendency?

(i) of% RoeH / Mean deviation

(ii) TSI TS / Geometric mean
(iii) T [59 / Standard deviation
(iv) @9 / Range
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Semi-interquartile range and quartile
deviation are same concepts.

(i) =/ Yes
() 7=/ / No

(d) cﬁquﬁmmﬁmﬂmﬁmw
[

Secondary data are collected from which
of the following sources?

() 2o iSSP oS
Direct personal investigation
(@) 3R oy
Official reports
(i) ST 2 wifer
Mail questionnaire
() SRT qbre wey
None of the above

. ( Continué/

(3)

(e) b1 ARSI FH IR GHS AT

0

(9)

15—5000/267

Maximum frequency of a series is
associated with

(i) IGIF A%S / median -

(ii) IFF FTS / mode

(iif) NI VYR A9S / arithmetic mean
(iv) BTAET Y F9S / geometric mean

o397 @MF =
Coefficient of variation =

v

() Zx100
X

oXX
100

X x100
G

(i)

(iti)
100
CXX

(iv)
AT TRAR
Index number .
(i) SRR I Ry 3/
measures of cost of living
(i) TOR R Ffy Iy
measures of national income
(iii) P! =ARwe et veg © -
measures rate of employment
(iv) 89T OIS Tzy
None of the abovye
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(h) - =TS ol o SRR P! oA I T ?

Which one of the following is Laspeyres’
formula of index number?

(i) 2 plql
poqz
z31’1‘10
. ZPogq

P Podp
Zpyq

x100
(i) =2 x100
(iii) x100

(iv)

150 "~ fSeve) -

Write short noteg On any four of the following

Secondary data
ITE ‘

Mode

TS Roew

Mean deviation
ﬁwﬁ?mwaﬁwq
Census VS. Sampje

AR

(0
(d)

(e R @y

Import »

portance of tabulation i Statistics
P15—5000/267

(S)

A TS fmanRems gFew R
AT T S TR Sl Seard 4 |
8+3=11

(@)

Discuss the importance of Statistics in
Economics and mention its limitations. -

</ Or

R I & |2 9@ wef oo
weifag Tomergz & &, Soad 411 oiforam-
Reme TR 8L YN 740 | . 2+6+3=11
What is meant by tabulation? State the

essential elements of a good table.
Explain its importance in Statistics.

(b)

SRR WY SE ‘SS9’ wew i
TR WG WE BN MR YRy A
SEfRUPTR for | 3+8=11
Define ‘arithmetic mean’ and ‘geometric

mean’. Mention the merits and demerits
of arithmetic mean and geometric mean.

A/ Or
SRR *[1 IZeF ey a7 -

Calculate the mode from the following
data :

(@)

(b) 11

ﬁg@w

!

';Class Interval :
,t?@rm »
‘ requency
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0-10 10-20 20-30 30-40 40-50 50-60 60-70

¢S 3 2 6 7 3
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B

" TgR/ Wages

No. of Workers -

6. (a

(b)
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(@) T Ko ween fimn 1 Riowem o0 2R

(6)

R Mo ey IRl @ e 391 = 2
4+7=1]

Define standard deviation. Why is it

most commonly used as a measure of
dispersion?

YA/ Or

Wﬁm@ﬁmﬁwgqﬁﬁ%ﬁcﬁwh 1}

Calculate the quart; o
following dataq: artile deviation from the

: 20-30 70
o 30-40 40-50 50-60 60~ |

8 10 9
TIF W R
WW‘m{m?

What is an '
in i
methods, of deX numberp What are it$

constl’uction? Write in prief

2011 v @ T

.. 5+6’1'
the year 20111_”;08 in.dex number for

Using () paasche’s

o
T Pl
Calculate the

4
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(7))

formula and (i) Fisher’s ideal index
formula from the following data :

79/ Price sR3r1/ Quanti
&%/ Goods 2010/ 2011 2010/ < 2011tu
A 10 20 100 50
B 22 44 220 110
c 20 40 200 100
D 15 30 150 75

7. (@) TEPFR T AN B R AmfiDE

(b)

REE@ wIEpal 96 U Dot e 9

NN ST 1
What are the basic methods of
interpolation? Discuss the various

methods of interpolation and point out
their differences.

5497/ Or

woe v &I Riew =39 s fan Cm
fRTHTR SR T TS 1947 59 SRy
e 91 :

Given below is the population of
Darrang District in different years.

Estimate the population with the help of

Newton’s interpolation formulg for the-
year 1947 :

%9/ Years
G (F49)

Population (in lakh)

1941 1951 1961 1971
280 294 305 355

* ok ok

4+8=12
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